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ERCOT Generating Reserve Margin Calculation

The formula for the calculation of the ERCOT Reserve Margin for any calendar year is:


Reserve MarginYEAR = (Resources AvailableYEAR – Load ForecastYEAR)

(Load ForecastYEAR)

where:

YEAR = calendar year of reserve margin calculation

Resources Available =
+ ERCOT Installed Capacity (as determined by ERCOT for the summer peak load season of the YEAR excluding wind turbine capacity and “switchable capacity),


+ 100% of DC Tie Capacity available for the YEAR,


+ 100% of “switchable” Capacity available for the summer peak load season of the YEAR,


+ 10% of the capacity of wind turbines installed in ERCOT for the summer peak load season of the YEAR,


+ New generating units(not included in ERCOT Installed Capacity) with signed interconnection agreements that are planned for commercial operation prior to the summer peak load season of the YEAR,


+ 10% of the capacity of new wind turbines (not included in ERCOT Installed Capacity) with signed interconnection agreements that are planned for commercial operation prior to the summer peak load season of the YEAR,


+ 100% of the Loads Acting as Resources (LAARs) that are available for deployment by ERCOT for the summer peak load season of the YEAR,

+
100% of Balancing Up Loads (BULs) that are available for deployment by ERCOT for the summer peak load season of the YEAR

· Installed generating capacity publicly announced as “mothballed” for the summer peak load season of the YEAR with no RMR contract awarded by ERCOT for the YEAR,

· Installed generating capacity publicly announced as “retired” for the summer peak load season of the YEAR and which is physically unable to produce electricity and is no longer considered an operating generating unit by ERCOT (if included in Total ERCOT Installed Capacity).

Load Forecast = + Summer Peak Demand Forecast (Price Adjusted* and Weather-Normalized) by ERCOT (including LAARs and BULs) for YEAR.

* A Price Adjusted forecast incorporates demand elasticity, which assumes that, as the price of energy increases, load will interrupt in order to avoid paying the higher prices (if they are subject to the higher prices) or load will take advantage of the higher prices by accepting payments to interrupt.  Early in the operation of the ERCOT market, it is unlikely that sufficient information will be available to determine this elasticity, but as the market matures and this characteristic becomes apparent, it will be included in the load forecast.

Criteria considered when assigning 100% to DC ties and “switchable” capacity include:

· Diversity of occurrence of peak loads concurrent with high prices between ERCOT and other regions (e.g., SPP)

· Likelihood of price differential for energy between ERCOT and other regions during periods of capacity shortages

· If the price differential between zones is attractive, switchable capacity will find alternatives for any long-term contracts in SPP in order to switch to ERCOT.

